
+ = 𝑇𝑖𝑝 𝑡𝑜 𝑇𝑎𝑖𝑙𝑣௔

𝑣௕

𝑣௥

𝑣௔

𝑣௕

− =𝑣௔

𝑣௕

𝑣௥
𝑣௔

𝑣௕

+𝑣௔ −𝑣௔
+ =

𝑣௕

𝑣௔

+

𝑣௕

=
𝑣௔

𝑣௕

𝑣௥

𝑣௔

𝑁

𝐸
+

+ =8𝑚

6𝑚

8𝑚

𝑊𝑎𝑙𝑘 8 𝑚 𝑁, 𝑡ℎ𝑒𝑛 6 𝑚 𝐸 𝑖𝑛 5 𝑠𝑠.

𝜃

𝑡𝑎𝑛𝜃 =
𝑜𝑝𝑝

𝑎𝑑𝑗
⎯⎯⎯

       𝜃 = tanିଵ(
6

8
⎯⎯)

       𝜃 = 36.9଴

𝑠 =
𝑑

𝑡
⎯⎯

𝑠 =
14

5
⎯⎯⎯

𝑠 = 2.8
𝑚

𝑠
⎯⎯

𝑣 =
𝑑

𝑡
⎯⎯

𝑣 =
10

5
⎯⎯⎯

𝑣 = 2
𝑚

𝑠
⎯⎯ 36.9଴ [𝐸𝑜𝑁]

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

             𝑐 = ඥ𝑎ଶ + 𝑏ଶ
⎯⎯⎯⎯⎯⎯⎯ 

             𝑐 = ඥ6ଶ + 8ଶ
⎯⎯⎯⎯⎯⎯⎯ 

             𝑐 = 10
𝑑 = 10 𝑚

𝑑 = 10 𝑚 36.9଴ [𝐸𝑜𝑁]

36.9௢

6𝑚

10m + =

𝑊𝑎𝑙𝑘 10 𝑚 53଴ [𝑁𝑜𝐸], 𝑡ℎ𝑒𝑛 5 𝑚 𝐸.

5𝑚

𝜃 = 53଴
10𝑚

5𝑚

10𝑚

5𝑚

37଴90଴ − 53଴ = 37଴

𝐴 = 𝐻𝑐𝑜𝑠𝜃
𝐴 = 10𝑐𝑜𝑠37
𝐴 = 7.99

𝐴 = 𝐻𝑐𝑜𝑠𝜃

0 = ℎ𝑠𝑖𝑛𝜃

7.99𝑚

 𝑂 = 𝐻𝑠𝑖𝑛𝜃
 𝑂 = 10𝑠𝑖𝑛37
 𝑂 = 6.02

6.02𝑚

11.02𝑚
𝑡𝑎𝑛𝜃 =

𝑜𝑝𝑝

𝑎𝑑𝑗
⎯⎯⎯

       𝜃 = tanିଵ(
7.99

11.02
⎯⎯⎯⎯⎯)

       𝜃 = 35.9଴

𝑑 = 13.6𝑚

𝜃 = 35.9௢

Cos Law SAS (OR Sin Law!)

𝑑 = 13.6𝑚

𝑐 = ඥ𝑎ଶ + 𝑏ଶ
⎯⎯⎯⎯⎯⎯⎯ 

𝑐 = ඥ11.02ଶ + 7.99ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

𝑐 = 13.6

6.02 + 5 = 11.02

7.99𝑚

𝑑 = 13.6 𝑚 35.9଴ [𝑁𝑜𝐸]

10𝑚

5𝑚

𝑑 = 13.6𝑚180௢ − 53௢ = 127௢

127௢53௢
𝐴𝑙𝑡 𝐼𝑛𝑡 ∠ᇱ𝑠 =

    𝑐ଶ = 𝑏ଶ + 𝑎ଶ − 2𝑎𝑏𝐶𝑜𝑠𝐶
    𝑐ଶ = 5ଶ + 10ଶ − 2(10)(5)𝑐𝑜𝑠127
    𝑐ଶ = 185.18

ඥ𝑐ଶ
⎯⎯   

= √185.8
⎯⎯⎯⎯⎯ 

      𝑐 = 13.6

53௢

53௢

𝑥 𝑦

+6.02 +7.99

+5 0

+11.02 +7.99

;  𝑃𝑦𝑡ℎ𝑎𝑔/𝑇𝑎𝑛

Component Method
OR

OR

𝑊, 𝑆 → −𝑣𝑒!

P11 - 1.5 - Resultant Vector Notes

   P10 Page 1    



𝐼𝑓 𝑦𝑜𝑢 𝑤𝑎𝑙𝑘 8 𝑚 37଴ [𝑁𝑜𝐸], 𝑡ℎ𝑒𝑛 6 𝑚 64଴ [𝑁𝑜𝐸], 𝑤ℎ𝑎𝑡 𝑖𝑠 𝑦𝑜𝑢𝑟 𝑑𝑖𝑠𝑝𝑙𝑎𝑐𝑒𝑚𝑒𝑛𝑡?

𝜃 = 64଴

𝜃 = 37଴

𝐶𝑜𝑠𝑖𝑛𝑒 𝐿𝑎𝑤

𝜃 = 64଴

𝜃 = 37଴

𝜃 = 64଴

𝜃 = 37଴
𝑂 = ℎ𝑠𝑖𝑛𝜃
𝑂 = 8𝑠𝑖𝑛37
𝑂 = 4.81

8

6 8

6

8

6

4.81

𝑂 = 𝐻𝑠𝑖𝑛𝜃
𝑂 = 𝐻𝑠𝑖𝑛64
𝑂 = 5.39

5.39

𝐴 = 𝐻𝑐𝑜𝑠𝜃
𝐴 = 8𝑐𝑜𝑠37
𝐴 = 6.39

𝐴 = 𝐻𝑐𝑜𝑠𝜃
𝐴 = 6𝑐𝑜𝑠64
𝐴 = 2.63

𝐶𝑜𝑚𝑝𝑜𝑛𝑒𝑛𝑡 𝑀𝑒𝑡ℎ𝑜𝑑

+

2.63

6.39

6.39 + 2.63 = 9.02

   4.81
+5.39
   10.2

9.02

10.2

𝜃 = 48.5଴

13.62 𝑡𝑎𝑛𝜃 =
𝑂

𝐴
⎯⎯

       𝜃 = tanିଵ ቆ
10.2

9.02
⎯⎯⎯⎯ቇ 

       𝜃 = 48.5଴

𝑑 = 13.62 𝑚 48.5଴ [𝑁𝑜𝐸]

𝑁

𝐸

x y

hcos𝜃 hsin𝜃

6.39 4.81

2.63 5.39

9.02 10.2

𝑑𝑑

𝑊, 𝑆 → −𝑣𝑒!

𝑑

𝑐 = ඥ𝑎ଶ + 𝑏ଶ
⎯⎯⎯⎯⎯⎯⎯ 

𝑐 = ඥ9.02ଶ + 10.2ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

𝑐 = 13.62

𝑣௜ = 40
𝑚

𝑠
⎯⎯

𝑣௙ = 30
𝑚

𝑠
⎯⎯

𝑎 =
∆𝑣

∆𝑡
⎯⎯⎯

𝑎 =
50

5
⎯⎯⎯

𝑎 = 10
𝑚

𝑠ଶ
⎯⎯ 53.13௢ 𝑊𝑜𝑆

∆𝑣 = 𝑣௙ − 𝑣௜

− +

𝑣௥ = 50

40

30

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

             𝑐 = ඥ𝑎ଶ + 𝑏ଶ
⎯⎯⎯⎯⎯⎯⎯ 

             𝑐 = ඥ30ଶ + 40ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

             𝑐 = 50

𝜃

𝑎 =
∆𝑣

∆𝑡
⎯⎯⎯𝐹𝑖𝑛𝑑 𝑣௥ 𝑎𝑛𝑑 "𝑎"

𝑡 = 5𝑠

𝑡𝑎𝑛𝜃 =
𝑂

𝐴
⎯⎯

       𝜃 = tanିଵ ቆ
40

30
⎯⎯⎯ቇ

       𝜃 = 53.13௢

=
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